Abnormal earnings (AE) are:  AEt= Actual earning t-Required earnings t

Which may be expressed as AEt= NOPAT t- (r x BVt-1)

Where NOPAT is the firm’s net operating profit after taxes, r is the cost of equity capital and BV t-1 is the book value of equity at t-1.

Appearing next is the NOPAT, BVt-1 and cost of equity capital of two firms.

	Company A
	2001
	2002
	2003
	2004
	2005

	NOPAT
	$66,920
	$79,632
	$83,314
	$89,920
	$92,690

	BVt-1
	$478,000
	$504,000
	$541,000
	$562,000
	$598,000

	Cost of equity capital
	0.152
	0.167
	0.159
	0.172
	0.166


	Company B
	2001
	2002
	2003
	2004
	2005

	NOPAT
	$192,940
	$176,341
	$227,700
	$198,900
	$282,964

	BVt-1
	$877,000
	$943,000
	$989,999
	$1,020,000
	$1,199,000

	Cost of equity capital
	0.188
	0.179
	0.183
	0.175
	0.186


Required:

1. Calculate each firm’s AE each year from 2001 to 2005.

2.  Which firm was a better investment for its shareholders over the 2001-2005 period? Why?

